o2 3= 20 o oMo tigh Bl do] 149 75
et Tz go|nt, gdo] S14-9] Pto] 83 o
o, a, b 9] 27
AZzZE)| 6 7 | 8 | 9 | 10 [&A
=g 2 | a | 8 b | 20
[ 3, sH
Da=1,b=5 @ a=2b=4
®a=3b=2 @a:4,b:2
®a=5b=1

A MY 471 20 HO|BE 24 q+8+4+b =20

“a+b=6---O
T3 Hoto] 8 § o2
6 x2 +7><a+8><8+9><4+10><b
20 ’
12 + 7a + 64 + 36 + 106 = 160

. Ta+10b=48---©
Q, Os A5t EHa=4, b=2
=4, b=2

. thee gzoly g2 FAE9] 100m EEl7] 712
oot S vhebd 1 EOM olm, 452} 100m
ge]7] 715 it S HRgte?

()
8
6
4
N . T
] ]
013 14 15 16 17 18 19 20 (m/s)
[Hh3 3, S ]
@ 47k 15, FANg 17
@ 437k 16, FNgE: 17
@%%Vuk $17, #Rgk - 17
@ FFBL 17, 9 16
® Zgk: 17, A7k 18

FRigke st 7F 7 o= Y B Wl 17
o1, Y= 7152 A= UEsHH 13, 13,
13, 14, 15, 15, 16, 16, 16, 17, 17, 17, 17, 17, 17,
17, 18, 18, 18, 18, 18, 19, 19, 19, 200] 2.& o}
2 170]h

J.ox




